Examen de Matematicas 4° de ESO
Diciembre 2004

Resolver las siguientes ecuaciones y sistemas:

Problema 1
log(xz + 1) —log(z? —1) =1
Solucién:
log (;tﬂ) —1log10 = 102° —z — 11 = 0 — { " 1_’11NO Vale
Problema 2
5201 57 4 1=0
Solucién:
(5;)2—59”+1:0:>t;—t+1:0:> t? —5t+5=0
{ t=5%=3,618 =2 =0,714
t=5"=1,381 = x =0,296
Problema 3
log(z°y?) =
{ log (3) =1
Solucién:

3logz+ 2logy =8 3u+ 2v= 8
f—
logx— logy =1 u— ov= 1

u:logm:2:>x:100
v=logy=1=y =10

Problema 4
el v =1
2T+ 2.3V =
Solucion:
{2'293_ 3y 1 2u— v =1
e —
x 1/
S ut 2 =3

u=1=2"=2=0

v=1=3=y=0



Problema 5

Solucion:

13 13
x+2—3x§12+4w:>—6x§13=>x2—€=> [—6,+oo)

Problema 6

22 —2x—3

r—1

>0

Solucion: )
xt -2 -3 (x 4+ 1)(x —3) >0
r—1 r—1

(o0, =) | (=1,1) | (1,3) | (3,%)
r+1 — + + +
r—1 — — + +
x—3 — — — +

La solucién es: [—1,1] U [3, c0)

Problema 7

20— y >1
T+ y <2

Solucion:




Ty
r+y=2= 012

210
20— y =1 r=1
{ z+ y =2 {yzl = L1
Problema 8
V2r+3—-Vr—2=2
Solucion:

V2 +3=24Vr — 2= 2043 =4+42-2+4Vx — 2 = 2+1 = —4Vz — 2

22420 4+1=162+32=22—142+33=0

Problema 9

V3r—5+x=1

Solucién:
3r—5=1+4+2>2-22=2>—-52+6=0

xz = 3 No Vale
z = 2 No Vale

Problema 10
at —242* — 25 =0
Solucién:
Hacemos z =22 = 2?2 — 242 — 25 =0 = 2 =25 y 2 = —1.
z=25=0= =45

2z = —1 =22 No Vale



